
ANGLIČTINA PRO ZAHRÁDKÁŘE

Cvičení k lekci 3

doplněk k časopisu Zahrádkář 3/2008 str. 

Exercises: 

1) Choose the correct form (Vyberte správný tvar):

1) The spade is a garden ................

     a) piece b) instrument c) machine d) tool

2) I absolutely hate ........................ flowerbeds. It´s so boring and useless.

     a) weed b) weeded c) weeds d) weeding

3) A beautiful lawn needs a lot of ..............................

     a) mow b) mowing c) mowed d) mows

4) The sack with the vegetables was far too heavy for me to carry, so I ..................... it 
across the floor.

     a) drew b) dragged c) trailed d) threw

5) You will need a strong spade if you are going to ...................... that hard ground.

     a) dig b) digging c) digs d) dug

6) I´ll putt the flowers in this …………………. They´ll look nice there.

     a) crystal b) mug c) vase d) bucket

7) I am going into the garden to ………………. some flowers.

     a) pick b) grip c) snatch d) seize

2) Find the antonym (Najděte slovo opačného významu):

1) to sow – to ………
2) large / big - ………
3) slow - ………
4) near - ………
5) dark - ………
6) white - ………
7) low - ………
8) short - ……..
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3) Translate into English (Přeložte do angličtiny):

1) Martin seče vždy trávník kosou.
2) Jana zalévá zahradu hadicí.
3) Pavel shrabává trávník.
4) Markétka pleje květinové záhony.

4) Complete the following sentences. Each letter is represented by one dash. (Doplňte 
následující věty. Každé písmeno je nahrazeno jednou pomlčkou.):

1) He got his hands _ _ _ t _ working in the garden and had to wash them.
2) Do you _ _ _ _ turnips in your garden?
3) I have been working very hard, but the ground is frozen so hard that after two hours of _ _ 
_ g _ _ _   the hole is only two feet deep.

5) Is that a truth? (Je to pravda?):

1) Potatoes grow under the ground.
2) A cauliflower is a flower.
3) Bees live in a hive.
4) Rain comes from clouds.
5) Water turns to ice at 0 degrees Celsius.
6) Coconuts grow in cold climates.
7) The moon affects the tide at sea.
8) A tulip is a flower.

Správné odpovědi

1) tool, 2) weeding, 3) mowing, 4) dragged (vláčel, táhl), 5) dig, 6) vase, 7) pick
2) 1) reap, 2) small, 3) fast, 4) far, 5) light, 6) black, 7) high, 8) long
3) 1) Martin always mows the lawn with a scythe. 2) Jane is watering the garden with a 

hose(pipe). 3) Paul is raking the lawn. 4) Peggy is weeding the flowerbeds.
4) 1) dirty, 2) grow, 3) digging
1) true, 2) false, 3) true, 4) true, 5) true, 6) false, 7) true, 8) true
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